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Abstract

In this paper we obtain some refinements and reverses of Callebaut’s inequality for isotonic
functionals via a result of Young’s inequality due to Cartwright and Field.

1. Introduction

Let L be a linear class of real-valued functions g : E→ R having the properties

(L1) f , g ∈ L imply (α f +βg) ∈ L for all α, β ∈ R;
(L2) 1 ∈ L, i.e., if f0 (t) = 1, t ∈ E then f0 ∈ L.

An isotonic linear functional A : L→ R is a functional satisfying

(A1) A(α f +βg) = αA( f )+βA(g) for all f , g ∈ L and α, β ∈ R.
(A2) If f ∈ L and f ≥ 0, then A( f )≥ 0.

The mapping A is said to be normalized if
(A3) A(1) = 1.

Isotonic, that is, order-preserving, linear functionals are natural objects in analysis that enjoy a number of convenient properties.
Thus, they provide, for example, Jessen’s inequality, which is a functional form of Jensen’s inequality (see [1], [2] and [3]).
For other inequalities for isotonic functionals see [4], and [5]-[15].
We note that common examples of such isotonic linear functionals A are given by

A(g) =
∫

E
gdµ or A(g) = ∑

k∈E
pkgk,

where µ is a positive measure on E in the first case and E is a subset of the natural numbers N, in the second, with g = {gk}k∈E
and pk ≥ 0, k ∈ E.
We have the following inequality that provides a refinement and a reverse for the celebrated Young’s inequality

1
2

ν (1−ν)
(b−a)2

max{a,b}
≤ (1−ν)a+νb−a1−ν bν ≤ 1

2
ν (1−ν)

(b−a)2

min{a,b}
(1.1)
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for any a, b > 0 and ν ∈ [0,1] .
This result was obtained in 1978 by Cartwright and Field [16] who established a more general result for n variables and gave
an application for a probability measure supported on a finite interval.
The functional version of Callebaut’s inequality states that

A2 ( f g)≤ A
(

f 2−ν gν
)

A
(

f ν g2−ν
)
≤ A

(
f 2)A

(
g2) (1.2)

provided that f 2, g2, f 2−ν gν , f ν g2−ν , f g ∈ L for some ν ∈ [0,2]. For the discrete and integral of one real variable versions
see [17].
In this paper we obtain some inequalities for isotonic functionals via the reverse and refinement of Young’s inequality (1.1)
that are related to the second part of Callebaut’s inequality (1.2). Applications for integrals and n-tuples of real numbers are
also provided.

2. On Callebaut’s Inequality

We have the following result that provides a refinement and reverse of Callebaut’s second inequality:

Theorem 2.1. Let A, B : L→ R be two normalized isotonic functionals. If f , g : E→ R are such that, f 2, g2, g4

f 2 , f 2(1−ν)g2ν ,

f 2ν g2(1−ν) ∈ L for some ν ∈ [0,1], and

0 < m≤ f
g
≤M < ∞ (2.1)

for real numbers M > m > 0, then

1
2

ν (1−ν)m2
(

A
(

g4

f 2

)
B
(

f 2)+A
(

f 2)B
(

g4

f 2

)
−2
)
≤ (1−ν)A

(
f 2)B

(
g2)+νA

(
g2)B

(
f 2) (2.2)

−A
(

f 2(1−ν)g2ν

)
B
(

f 2ν g2(1−ν)
)

≤ 1
2

ν (1−ν)M2
(

A
(

g4

f 2

)
B
(

f 2)+A
(

f 2)B
(

g4

f 2

)
−2
)
.

Proof. Since ab = min{a,b}max{a,b} for any a,b > 0, then from (1.1) we have

1
2

ν (1−ν)min{a,b} (b−a)2

ab
≤ (1−ν)a+νb−a1−ν bν ≤ 1

2
ν (1−ν)max{a,b} (b−a)2

ab
,

where ν ∈ [0,1]. This can be written as

1
2

ν (1−ν)min{a,b}
(

b
a
+

a
b
−2
)
≤ (1−ν)a+νb−a1−ν bν ≤ 1

2
ν (1−ν)max{a,b}

(
b
a
+

a
b
−2
)
, (2.3)

for any a, b > 0.
Let x, y ∈ E such that g(x) , g(y) 6= 0. If we use the inequalities (2.3) for

a =
f 2 (x)
g2 (x)

, b =
f 2 (y)
g2 (y)

∈
[
m2,M2]

then we get

1
2

ν (1−ν)m2
(

f 2 (y)
g2 (y)

g2 (x)
f 2 (x)

+
f 2 (x)
g2 (x)

g2 (y)
f 2 (y)

−2
)
≤ (1−ν)

f 2 (x)
g2 (x)

+ν
f 2 (y)
g2 (y)

−
(

f 2 (x)
g2 (x)

)1−ν ( f 2 (y)
g2 (y)

)ν

(2.4)

≤ 1
2

ν (1−ν)M2
(

f 2 (y)
g2 (y)

g2 (x)
f 2 (x)

+
f 2 (x)
g2 (x)

g2 (y)
f 2 (y)

−2
)
,

where ν ∈ [0,1].
If we multiply (2.4) by g2 (x)g2 (y) , then we get

1
2

ν (1−ν)m2
(

f 2 (y)
g4 (x)
f 2 (x)

+ f 2 (x)
g4 (y)
f 2 (y)

−2
)
≤ (1−ν)g2 (y) f 2 (x)+ν f 2 (y)g2 (x) (2.5)

− f 2ν (y)g2(1−ν) (y) f 2(1−ν) (x)g2ν (x)

≤ 1
2

ν (1−ν)M2
(

f 2 (y)
g4 (x)
f 2 (x)

+ f 2 (x)
g4 (y)
f 2 (y)

−2
)
,
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which holds for any x, y ∈ E.
Fix y ∈ E. Then by (2.5) we have in the order of L that

1
2

ν (1−ν)m2
(

f 2 (y)
g4

f 2 +
g4 (y)
f 2 (y)

f 2−2
)
≤ (1−ν)g2 (y) f 2 +ν f 2 (y)g2− f 2ν (y)g2(1−ν) (y) f 2(1−ν)g2ν (2.6)

≤ 1
2

ν (1−ν)M2
(

f 2 (y)
g4

f 2 +
g4 (y)
f 2 (y)

f 2−2
)
.

If we take the functional A in (2.6), then we get

1
2

ν (1−ν)m2
(

f 2 (y)A
(

g4

f 2

)
+

g4 (y)
f 2 (y)

A
(

f 2)−2
)
≤ (1−ν)g2 (y)A

(
f 2)+ν f 2 (y)A

(
g2)− f 2ν (y)g2(1−ν) (y)A

(
f 2(1−ν)g2ν

)
≤ 1

2
ν (1−ν)M2

(
f 2 (y)A

(
g4

f 2

)
+

g4 (y)
f 2 (y)

A
(

f 2)−2
)
,

for any y ∈ E.
If we write this inequality in the order of L, then we have

1
2

ν (1−ν)m2
(

A
(

g4

f 2

)
f 2 +A

(
f 2) g4

f 2 −2
)
≤ (1−ν)A

(
f 2)g2 +νA

(
g2) f 2−A

(
f 2(1−ν)g2ν

)
f 2ν g2(1−ν)

≤ 1
2

ν (1−ν)M2
(

A
(

g4

f 2

)
f 2 +A

(
f 2) g4

f 2 −2
)
,

and by taking the functional B we deduce the desired result (2.2).

Corollary 2.2. Let A : L→ R be a normalized isotonic functional. If f , g : E → R are such that f 2, g2, g4

f 2 , f 2(1−ν)g2ν ,

f 2ν g2(1−ν) ∈ L for some ν ∈ [0,1] and the condition (2.1) holds, then

ν (1−ν)m2
(

A
(

g4

f 2

)
A
(

f 2)−1
)
≤ A

(
f 2)A

(
g2)−A

(
f 2(1−ν)g2ν

)
A
(

f 2ν g2(1−ν)
)

(2.7)

≤ ν (1−ν)M2
(

A
(

g4

f 2

)
A
(

f 2)−1
)
.

In particular, if f 2, g2, g4

f 2 , f g ∈ L and the condition (2.1) holds, then

1
4

m2
(

A
(

g4

f 2

)
A
(

f 2)−1
)
≤ A

(
f 2)A

(
g2)−A2 ( f g) (2.8)

≤ 1
4

M2
(

A
(

g4

f 2

)
A
(

f 2)−1
)
.

The following result also holds:

Theorem 2.3. Let A, B : L→ R be two normalized isotonic functionals. If f , g : E → R are such that f ≥ 0, g > 0, f 2, g2,
f 4

g2 , f 2(1−ν)g2ν , f 2ν g2(1−ν) ∈ L for some ν ∈ [0,1] and the condition (2.1) holds, then

1
2M2 ν (1−ν)

(
A
(
g2)B

(
f 4

g2

)
−2A

(
f 2)B

(
f 2)+A

(
f 4

g2

)
B
(
g2)) ≤ (1−ν)A

(
f 2)B

(
g2)+νA

(
g2)B

(
f 2) (2.9)

−A
(

f 2(1−ν)g2ν

)
B
(

f 2ν g2(1−ν)
)

≤ 1
2m2 ν (1−ν)

×
(

A
(
g2)B

(
f 4

g2

)
−2A

(
f 2)B

(
f 2)+A

(
f 4

g2

)
B
(
g2)) .

Proof. For any x, y ∈ E we have

m2 ≤ f 2 (x)
g2 (x)

,
f 2 (y)
g2 (y)

≤M2.

If we use the inequality (1.1) for

a =
f 2 (x)
g2 (x)

, b =
f 2 (y)
g2 (y)

,
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then we get

1
2M2 ν (1−ν)

(
f 2 (y)
g2 (y)

− f 2 (x)
g2 (x)

)2

≤ (1−ν)
f 2 (x)
g2 (x)

+ν
f 2 (y)
g2 (y)

−
(

f 2 (x)
g2 (x)

)1−ν ( f 2 (y)
g2 (y)

)ν

≤ 1
2m2 ν (1−ν)

(
f 2 (y)
g2 (y)

− f 2 (x)
g2 (x)

)2

for any x, y ∈ E.
This can be written as

1
2M2 ν (1−ν)

(
f 4 (y)
g4 (y)

−2
f 2 (y)
g2 (y)

f 2 (x)
g2 (x)

+
f 4 (x)
g4 (x)

)
≤ (1−ν)

f 2 (x)
g2 (x)

+ν
f 2 (y)
g2 (y)

−
(

f 2 (x)
g2 (x)

)1−ν ( f 2 (y)
g2 (y)

)ν

(2.10)

≤ 1
2m2 ν (1−ν)

(
f 4 (y)
g4 (y)

−2
f 2 (y)
g2 (y)

f 2 (x)
g2 (x)

+
f 4 (x)
g4 (x)

)
.

Now, if we multiply (2.10) by g2 (x)g2 (y)> 0 then we get

1
2M2 ν (1−ν)

(
f 4 (y)
g2 (y)

g2 (x)−2 f 2 (y) f 2 (x)+
f 4 (x)
g2 (x)

g2 (y)
)
≤ (1−ν)g2 (y) f 2 (x)+ν f 2 (y)g2 (x) (2.11)

− f 2ν (y)g2(1−ν) (y) f 2(1−ν) (x)g2ν (x)

≤ 1
2m2 ν (1−ν)

(
f 4 (y)
g2 (y)

g2 (x)−2 f 2 (y) f 2 (x)+
f 4 (x)
g2 (x)

g2 (y)
)

for any x, y ∈ E.
Fix y ∈ E. Then by (2.11) we have in the order of L that

1
2M2 ν (1−ν)

(
f 4 (y)
g2 (y)

g2−2 f 2 (y) f 2 +g2 (y)
f 4

g2

)
≤ (1−ν)g2 (y) f 2 +ν f 2 (y)g2− f 2ν (y)g2(1−ν) (y) f 2(1−ν)g2ν

(2.12)

≤ 1
2m2 ν (1−ν)

(
f 4 (y)
g2 (y)

g2−2 f 2 (y) f 2 +g2 (y)
f 4

g2

)
.

If we take the functional A in (2.12), then we get

1
2M2 ν (1−ν)

(
f 4 (y)
g2 (y)

A
(
g2)−2 f 2 (y)A

(
f 2)+g2 (y)A

(
f 4

g2

))
≤ (1−ν)g2 (y)A

(
f 2)+ν f 2 (y)A

(
g2) (2.13)

− f 2ν (y)g2(1−ν) (y)A
(

f 2(1−ν)g2ν

)
≤ 1

2m2 ν (1−ν)

×
(

f 4 (y)
g2 (y)

A
(
g2)−2 f 2 (y)A

(
f 2)+g2 (y)A

(
f 4

g2

))
for any y ∈ E.
This inequality can be written in the order of L as

1
2M2 ν (1−ν)

(
A
(
g2) f 4

g2 −2A
(

f 2) f 2 +A
(

f 4

g2

)
g2
)
≤ (1−ν)A

(
f 2)g2 +νA

(
g2) f 2−A

(
f 2(1−ν)g2ν

)
f 2ν g2(1−ν)

(2.14)

≤ 1
2m2 ν (1−ν)

(
A
(
g2) f 4

g2 −2A
(

f 2) f 2 +A
(

f 4

g2

)
g2
)
.

Now, if we take the functional B in (2.14), then we get the desired result (2.9).

Corollary 2.4. Let A : L→ R be a normalized isotonic functional. If f , g : E → R are such that f ≥ 0, g > 0, f 2, g2, f 4

g2 ,

f 2(1−ν)g2ν , f 2ν g2(1−ν) ∈ L for some ν ∈ [0,1] and the condition (2.1) is valid, then

1
M2 ν (1−ν)

(
A
(
g2)A

(
f 4

g2

)
−A2 ( f 2)) ≤ A

(
f 2)A

(
g2)−A

(
f 2(1−ν)g2ν

)
A
(

f 2ν g2(1−ν)
)

(2.15)

≤ 1
m2 ν (1−ν)

(
A
(
g2)A

(
f 4

g2

)
−A2 ( f 2)) .
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In particular, if f 2, g2, f 4

g2 , f g ∈ L and the condition (2.1) is valid, then we have

1
4M2

(
A
(
g2)A

(
f 4

g2

)
−A2 ( f 2)) ≤ A

(
f 2)A

(
g2)−A2 ( f g) (2.16)

≤ 1
4m2

(
A
(
g2)A

(
f 4

g2

)
−A2 ( f 2)) .

3. Other Related Results

If we write the inequality (1.1) for a = 1 and b = x we get

1
2

ν (1−ν)
(x−1)2

max{x,1}
≤ 1−ν +νx− xν ≤ 1

2
ν (1−ν)

(x−1)2

min{x,1}
(3.1)

for any x > 0 and for any ν ∈ [0,1] .
If x ∈ [t,T ]⊂ (0,∞) , then max{x,1} ≤max{T,1} and min{t,1} ≤min{x,1} and by (3.1) we get

1
2

ν (1−ν)
minx∈[t,T ] (x−1)2

max{T,1}
≤ 1

2
ν (1−ν)

(x−1)2

max{T,1}
(3.2)

≤ 1−ν +νx− xν

≤ 1
2

ν (1−ν)
(x−1)2

min{t,1}

≤ 1
2

ν (1−ν)
maxx∈[t,T ] (x−1)2

min{t,1}
for any x ∈ [t,T ] and for any ν ∈ [0,1] .
Observe that

min
x∈[t,T ]

(x−1)2 =

 (T −1)2 if T < 1,
0 if t ≤ 1≤ T,
(t−1)2 if 1 < t

and

max
x∈[t,T ]

(x−1)2 =


(t−1)2 if T < 1,

max
{
(t−1)2 ,(T −1)2

}
if t ≤ 1≤ T,

(T −1)2 if 1 < t.

Then

c(t,T ) :=
minx∈[t,T ] (x−1)2

max{T,1}
=


(T −1)2 if T < 1,
0 if t ≤ 1≤ T,
(t−1)2

T if 1 < t
(3.3)

and

C (t,T ) :=
maxx∈[t,T ] (x−1)2

min{t,1}
=

{
(t−1)2

t if T < 1, 1
t max

{
(t−1)2 ,(T −1)2

}
if t ≤ 1≤ T,

(T −1)2 if 1 < t.
(3.4)

Using the inequality (3.2) we have

1
2

ν (1−ν)c(t,T ) ≤ 1
2

ν (1−ν)
(x−1)2

max{T,1}
≤ 1−ν +νx− xν (3.5)

≤ 1
2

ν (1−ν)
(x−1)2

min{t,1}
≤ 1

2
ν (1−ν)C (t,T )

for any x ∈ [t,T ] and for any ν ∈ [0,1] .
Now, if a, b > 0 and assume that b

a ∈ [t,T ] , then by (3.5) we get

1
2

ν (1−ν)c(t,T )a ≤ 1
2

ν (1−ν)
(b−a)2

max{T,1}a
(3.6)

≤ (1−ν)a+νb−bν a1−ν

≤ 1
2

ν (1−ν)
(b−a)2

min{t,1}a
≤ 1

2
ν (1−ν)C (t,T )a

for any ν ∈ [0,1] , where c(t,T ) and C (t,T ) are defined by (3.3) and (3.4), respectively.
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Theorem 3.1. Let A, B : L→ R be two normalized isotonic functionals. If f , g : E → R are such that, f 2, g2, g4

f 2 ,
f 4

g2 ,

f 2(1−ν)g2ν , f 2ν g2(1−ν) ∈ L for some ν ∈ [0,1] and the condition (2.1) holds, then

0 ≤ 1
2

ν (1−ν)
m2

M2

(
A
(

g4

f 2

)
B
(

f 4

g2

)
−2A

(
g2)B

(
f 2)+A

(
f 2)B

(
g2)) (3.7)

≤ (1−ν)A
(

f 2)B
(
g2)+νA

(
g2)B

(
f 2)−A

(
f 2(1−ν)g2ν

)
B
(

f 2ν g2(1−ν)
)

≤ 1
2

ν (1−ν)
M2

m2

(
A
(

g4

f 2

)
B
(

f 4

g2

)
−2A

(
g2)B

(
f 2)+A

(
f 2)B

(
g2))

≤ 1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2

A
(

f 2)B
(
g2) .

Proof. For any x, y ∈ E we have

m2 ≤ f 2 (x)
g2 (x)

,
f 2 (y)
g2 (y)

≤M2.

Consider

a =
f 2 (x)
g2 (x)

, b =
f 2 (y)
g2 (y)

,

then b
a ∈

[
m2

M2 ,
M2

m2

]
and by (3.6) we get

0 ≤ 1
2

ν (1−ν)

(
f 2(y)
g2(y) −

f 2(x)
g2(x)

)2

M2

m2
f 2(x)
g2(x)

≤ (1−ν)
f 2 (x)
g2 (x)

+ν
f 2 (y)
g2 (y)

−
(

f 2 (y)
g2 (y)

)ν ( f 2 (x)
g2 (x)

)1−ν

≤ 1
2

ν (1−ν)

(
f 2(y)
g2(y) −

f 2(x)
g2(x)

)2

m2

M2
f 2(x)
g2(x)

≤ 1
2

ν (1−ν)
M2

m2 max

{(
m2

M2 −1
)2

,

(
M2

m2 −1
)2
}

f 2 (x)
g2 (x)

=
1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2 f 2 (x)

g2 (x)

for any x, y ∈ E and ν ∈ [0,1].
This inequality is equivalent to

0 ≤ 1
2

ν (1−ν)
m2

M2

(
f 2(y)
g2(y) −

f 2(x)
g2(x)

)2
g2 (x)

f 2 (x)
(3.8)

≤ (1−ν)
f 2 (x)
g2 (x)

+ν
f 2 (y)
g2 (y)

−
(

f 2 (y)
g2 (y)

)ν ( f 2 (x)
g2 (x)

)1−ν

≤ 1
2

ν (1−ν)
M2

m2

(
f 2(y)
g2(y) −

f 2(x)
g2(x)

)2
g2 (x)

f 2 (x)

≤ 1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2 f 2 (x)

g2 (x)

for any x,y ∈ E and ν ∈ [0,1].
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Now, if we multiply (3.8) by g2 (x)g2 (y)> 0 then we get

0 ≤ 1
2

ν (1−ν)
m2

M2

(
f 2(y)
g2(y) −

f 2(x)
g2(x)

)2
g4 (x)g2 (y)

f 2 (x)
(3.9)

≤ (1−ν)g2 (y) f 2 (x)+ν f 2 (y)g2 (x)− f 2ν (y)g2(1−ν) (y) f 2(1−ν) (x)g2ν (x)

≤ 1
2

ν (1−ν)
M2

m2

(
f 2(y)
g2(y) −

f 2(x)
g2(x)

)2
g4 (x)g2 (y)

f 2 (x)

≤ 1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2

f 2 (x)g2 (y)

for any x, y ∈ E and ν ∈ [0,1].
Observe that (

f 2(y)
g2(y) −

f 2(x)
g2(x)

)2
g4 (x)g2 (y)

f 2 (x)
=

(
f 4(y)
g4(y) −2 f 2(y)

g2(y)
f 2(x)
g2(x) +

f 4(x)
g4(x)

)
g4 (x)g2 (y)

f 2 (x)

=

f 4(y)g4(x)
g2(y) −2 f 2 (y) f 2 (x)g2 (x)+ f 4 (x)g2 (y)

f 2 (x)

=
f 4 (y)g4 (x)
g2 (y) f 2 (x)

−2 f 2 (y)g2 (x)+ f 2 (x)g2 (y)

and by (3.9) we get

0 ≤ 1
2

ν (1−ν)
m2

M2

(
f 4 (y)g4 (x)
g2 (y) f 2 (x)

−2 f 2 (y)g2 (x)+ f 2 (x)g2 (y)
)

≤ (1−ν)g2 (y) f 2 (x)+ν f 2 (y)g2 (x)− f 2ν (y)g2(1−ν) (y) f 2(1−ν) (x)g2ν (x)

≤ 1
2

ν (1−ν)
M2

m2

(
f 4 (y)g4 (x)
g2 (y) f 2 (x)

−2 f 2 (y)g2 (x)+ f 2 (x)g2 (y)
)

≤ 1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2

f 2 (x)g2 (y)

for any x, y ∈ E and ν ∈ [0,1].
Now, if we use a similar argument to the one from the proof of Theorem 2.1 we deduce the desired result (3.7).

Corollary 3.2. Let A : L→ R be a normalized isotonic functional. If f , g : E→ R are such that, f 2, g2, g4

f 2 ,
f 4

g2 , f 2(1−ν)g2ν ,

f 2ν g2(1−ν) ∈ L for some ν ∈ [0,1] and the condition (2.1) holds, then

0 ≤ 1
2

ν (1−ν)
m2

M2

(
A
(

g4

f 2

)
A
(

f 4

g2

)
−A

(
g2)A

(
f 2)) (3.10)

≤ A
(

f 2)A
(
g2)−A

(
f 2(1−ν)g2ν

)
A
(

f 2ν g2(1−ν)
)

≤ 1
2

ν (1−ν)
M2

m2

(
A
(

g4

f 2

)
A
(

f 4

g2

)
−A

(
g2)A

(
f 2))

≤ 1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2

A
(

f 2)A
(
g2) .

In particular, if f 2, g2, g4

f 2 ,
f 4

g2 , f g ∈ L, then we have

0 ≤ 1
8

m2

M2

(
A
(

g4

f 2

)
A
(

f 4

g2

)
−A

(
g2)A

(
f 2)) (3.11)

≤ A
(

f 2)A
(
g2)−A2 ( f g)

≤ 1
8

M2

m2

(
A
(

g4

f 2

)
A
(

f 4

g2

)
−A

(
g2)A

(
f 2))

≤ 1
8

M2

m2

(
M2

m2 −1
)2

A
(

f 2)A
(
g2) .
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We observe that the inequality (3.11) can be written as

0 ≤ 1
8

m2

M2

A
(

g4

f 2

)
A
(

f 4

g2

)
A(g2)A( f 2)

−1

≤ 1− A2 ( f g)
A( f 2)A(g2)

(3.12)

≤ 1
8

M2

m2

A
(

g4

f 2

)
A
(

f 4

g2

)
A(g2)A( f 2)

−1

≤ 1
8

M2

m2

(
M2

m2 −1
)2

.

4. Applications for Integrals

Let (Ω,A,µ) be a measurable space consisting of a set Ω, a σ -algebra A of subsets of Ω and a countably additive and positive
measure µ on A with values in R∪{∞} . For a µ-measurable function w : Ω→ R, with w(x)≥ 0 for µ -a.e. (almost every)
x ∈Ω and p≥ 1 consider the Lebesgue space

Lp
w (Ω,µ) := { f : Ω→ R, f is µ-measurable and

∫
Ω

| f (x)|p w(x)dµ (x)< ∞}.

For simplicity of notation we write everywhere in the sequel
∫

Ω
wdµ instead of

∫
Ω

w(x)dµ (x). The same for other integrals
involved below. We assume that

∫
Ω

wdµ = 1.
Let f , g be µ-measurable functions with the property that there exists the constants M, m > 0 such that

0 < m≤ f
g
≤M < ∞ µ-almost everywhere (a.e.) on Ω. (4.1)

If f 2, g2, g4

f 2 , f 2(1−ν)g2ν , f 2ν g2(1−ν) ∈ Lw (Ω,µ) for some ν ∈ [0,1] and the condition (4.1) holds, then by (2.7) we have

ν (1−ν)m2
(∫

Ω

w
g4

f 2 dµ

∫
Ω

w f 2dµ−1
)
≤

∫
Ω

w f 2dµ

∫
Ω

wg2dµ−
∫

Ω

w f 2(1−ν)g2ν dµ

∫
Ω

w f 2ν g2(1−ν)dµ (4.2)

≤ ν (1−ν)M2
(∫

Ω

w
g4

f 2 dµ

∫
Ω

w f 2dµ−1
)
.

In particular, if f 2, g2, g4

f 2 , f g ∈ Lw (Ω,µ) and the condition (4.1) holds, then

1
4

m2
(∫

Ω

w
g4

f 2 dµ

∫
Ω

w f 2dµ−1
)
≤

∫
Ω

w f 2dµ

∫
Ω

wg2dµ−
(∫

Ω

w f gdµ

)2

(4.3)

≤ 1
4

M2
(∫

Ω

w
g4

f 2 dµ

∫
Ω

w f 2dµ−1
)
.

If f 2, g2, f 4

g2 , f 2(1−ν)g2ν , f 2ν g2(1−ν) ∈ Lw (Ω,µ) for some ν ∈ [0,1] and the condition (4.1) holds, then by (2.15) we have

1
M2 ν (1−ν)

(∫
Ω

wg2dµ

∫
Ω

w
f 4

g2 dµ−
(∫

Ω

w f 2dµ

)2
)
≤

∫
Ω

w f 2dµ

∫
Ω

wg2dµ−
∫

Ω

w f 2(1−ν)g2ν dµ

∫
Ω

w f 2ν g2(1−ν)dµ

(4.4)

≤ 1
m2 ν (1−ν)

(∫
Ω

wg2dµ

∫
Ω

w
f 4

g2 dµ−
(∫

Ω

w f 2dµ

)2
)
.

In particular, if f 2, g2, f 4

g2 , f g ∈ Lw (Ω,µ) and the condition (4.1) is valid, then we have

1
4M2

(∫
Ω

wg2dµ

∫
Ω

w
f 4

g2 dµ−
(∫

Ω

w f 2dµ

)2
)
≤

∫
Ω

w f 2dµ

∫
Ω

wg2dµ−
(∫

Ω

w f gdµ

)2

(4.5)

≤ 1
4m2

(∫
Ω

wg2dµ

∫
Ω

w
f 4

g2 dµ−
(∫

Ω

w f 2dµ

)2
)
.
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If f 2, g2, g4

f 2 ,
f 4

g2 , f 2(1−ν)g2ν , f 2ν g2(1−ν) ∈ Lw (Ω,µ) for some ν ∈ [0,1], and the condition (4.1) holds, then

0 ≤ 1
2

ν (1−ν)
m2

M2

(∫
Ω

w
g4

f 2 dµ

∫
Ω

w
f 4

g2 dµ−
∫

Ω

wg2dµ

∫
Ω

w f 2dµ

)
(4.6)

≤
∫

Ω

w f 2dµ

∫
Ω

wg2dµ−
∫

Ω

w f 2(1−ν)g2ν dµ

∫
Ω

w f 2ν g2(1−ν)dµ

≤ 1
2

ν (1−ν)
M2

m2

(∫
Ω

w
g4

f 2 dµ

∫
Ω

w
f 4

g2 dµ−
∫

Ω

wg2dµ

∫
Ω

w f 2dµ

)
≤ 1

2
ν (1−ν)

M2

m2

(
M2

m2 −1
)2 ∫

Ω

w f 2dµ

∫
Ω

wg2dµ.

In particular, if f 2, g2, g4

f 2 ,
f 4

g2 , f g ∈ Lw (Ω,µ), then we have

0 ≤ 1
8

m2

M2

(∫
Ω

w
g4

f 2 dµ

∫
Ω

w
f 4

g2 dµ−
∫

Ω

wg2dµ

∫
Ω

w f 2dµ

)
(4.7)

≤
∫

Ω

w f 2dµ

∫
Ω

wg2dµ−
(∫

Ω

w f gdµ

)2

≤ 1
8

M2

m2

(∫
Ω

w
g4

f 2 dµ

∫
Ω

w
f 4

g2 dµ−
∫

Ω

wg2dµ

∫
Ω

w f 2dµ

)
≤ 1

8
M2

m2

(
M2

m2 −1
)2 ∫

Ω

w f 2dµ

∫
Ω

wg2dµ.

5. Applications for Real Numbers

We consider the n-tuples of positive numbers a = (a1, ...,an) , b = (b1, ...,bn) and the probability distribution p = (p1, ..., pn) ,
i.e. pi ≥ 0 for any i ∈ {1, ...,n} with ∑

n
i=1 pi = 1. If there exist the constants m, M > 0 such that

0 < m≤ ai

bi
≤M < ∞ for any i ∈ {1, ...,n} , (5.1)

then by (4.2) and (4.3) for the counting discrete measure, we have

ν (1−ν)m2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pia2
i −1

)
≤

n

∑
i=1

pia2
i

n

∑
i=1

pib2
i −

n

∑
i=1

pia
2(1−ν)
i b2ν

i

n

∑
i=1

pia2ν
i b2(1−ν)

i (5.2)

≤ ν (1−ν)M2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pia2
i −1

)
for any ν ∈ [0,1] and

1
4

m2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pia2
i −1

)
≤

n

∑
i=1

pia2
i

n

∑
i=1

pib2
i −

(
n

∑
i=1

piaibi

)2

(5.3)

≤ 1
4

M2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pia2
i −1

)
.

If a = (a1, ...,an) , b = (b1, ...,bn) satisfy (5.1), then by (4.4) and (4.5) for the counting discrete measure, we have

1
M2 ν (1−ν)

 n

∑
i=1

pib2
i

n

∑
i=1

pi
a4

i

b2
i
−

(
n

∑
i=1

pia2
i

)2
 ≤

n

∑
i=1

pia2
i

n

∑
i=1

pib2
i −

n

∑
i=1

pia
2(1−ν)
i b2ν

i

n

∑
i=1

pia2ν
i b2(1−ν)

i (5.4)

≤ 1
m2 ν (1−ν)

 n

∑
i=1

pib2
i

n

∑
i=1

pi
a4

i

b2
i
−

(
n

∑
i=1

pia2
i

)2


for any ν ∈ [0,1] and

1
4M2

 n

∑
i=1

pib2
i

n

∑
i=1

pi
a4

i

b2
i
−

(
n

∑
i=1

pia2
i

)2
 ≤

n

∑
i=1

pia2
i

n

∑
i=1

pib2
i −

(
n

∑
i=1

piaibi

)2

(5.5)

≤ 1
4m2

 n

∑
i=1

pib2
i

n

∑
i=1

pi
a4

i

b2
i
−

(
n

∑
i=1

pia2
i

)2
 .
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If a = (a1, ...,an) , b = (b1, ...,bn) satisfy (5.1), then by (4.6) and (4.7) for the counting discrete measure, we have

0 ≤ 1
2

ν (1−ν)
m2

M2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pi
a4

i

b2
i
−

n

∑
i=1

pib2
i

n

∑
i=1

pia2
i

)
(5.6)

≤
n

∑
i=1

pia2
i

n

∑
i=1

pib2
i −

n

∑
i=1

pia
2(1−ν)
i b2ν

i

n

∑
i=1

pia2ν
i b2(1−ν)

i

≤ 1
2

ν (1−ν)
M2

m2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pi
a4

i

b2
i
−

n

∑
i=1

pib2
i

n

∑
i=1

pia2
i

)

≤ 1
2

ν (1−ν)
M2

m2

(
M2

m2 −1
)2 n

∑
i=1

pia2
i

n

∑
i=1

pib2
i

for any ν ∈ [0,1] and

0 ≤ 1
8

m2

M2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pi
a4

i

b2
i
−

n

∑
i=1

pib2
i

n

∑
i=1

pia2
i

)
(5.7)

≤
n

∑
i=1

pia2
i

n

∑
i=1

pib2
i −

(
n

∑
i=1

piaibi

)2

≤ 1
8

M2

m2

(
n

∑
i=1

pi
b4

i

a2
i

n

∑
i=1

pi
a4

i

b2
i
−

n

∑
i=1

pib2
i

n

∑
i=1

pia2
i

)

≤ 1
8

M2

m2

(
M2

m2 −1
)2 n

∑
i=1

pia2
i

n

∑
i=1

pib2
i .

6. Conclusion

In this paper, by making use of some reverses and refinements of Young’s inequality (1.1),we obtained some inequalities for
isotonic functionals that are related to the second part of Callebaut’s inequality (1.2). Natural applications for integrals and
n-tuples of real numbers were also provided.
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[15] A. Lupaş, A generalisation of Hadamard’s inequalities for convex functions, Univ. Beograd. Elek. Fak., 577-579 (1976), 115-121.
[16] D.I. Cartwright and M.J. Field, A refinement of the arithmetic mean-geometric mean inequality, Proc. Amer. Math. Soc., 71 (1978), 36-38.

[CrossRef]
[17] D.K. Callebaut, Generalization of Cauchy-Schwarz inequality, J. Math. Anal. Appl. 12 (1965), 491-494. [CrossRef]

Fundamental Journal of Mathematics and Applications (FUJMA), (Fundam. J. Math. Appl.)
https://dergipark.org.tr/en/pub/fujma

All open access articles published are distributed under the terms of the CC BY-NC 4.0 license (Creative Commons Attribution-
Non-Commercial 4.0 International Public License as currently displayed at http://creativecommons.org/licenses/by-nc/4.
0/legalcode) which permits unrestricted use, distribution, and reproduction in any medium, for non-commercial purposes, provided the
original work is properly cited.

How to cite this article: S.S. Dragomir, Some refinements and reverses of Callebaut’s inequality for isotonic functionals via a result
due to Cartwright and Field, Fundam. J. Math. Appl., 7(1) (2024), 1-11. DOI 10.33401/fujma.1362681

https://doi.org/10.1017/S000497270004051X
https://www.scopus.com/record/display.uri?eid=2-s2.0-33845754082&origin=resultslist&sort=plf-f&src=s&sid=4cc854a753b93f4c5fe2d4fbfcda623d&sot=b&sdt=b&s=TITLE-ABS-KEY%28%22Bounds+for+the+normalized+Jensen+functional%22%29&sl=78&sessionSearchId=4cc854a753b93f4c5fe2d4fbfcda623d&relpos=3
https://doi.org/10.1016/j.jmaa.2009.08.059
https://www.scopus.com/record/display.uri?eid=2-s2.0-70349378865&origin=resultslist&sort=plf-f&src=s&sid=81fa61a1532600f63071f79cd12df452&sot=b&sdt=b&s=TITLE-ABS-KEY%28%22Improved+Young+and+Heinz+inequalities+for+matrices%22%29&sl=67&sessionSearchId=81fa61a1532600f63071f79cd12df452&relpos=1
https://www.webofscience.com/wos/woscc/full-record/WOS:000273063900024
https://doi.org/10.1080/03081087.2010.551661
https://www.scopus.com/record/display.uri?eid=2-s2.0-79961134150&origin=resultslist&sort=plf-f&src=s&sid=81fa61a1532600f63071f79cd12df452&sot=b&sdt=b&s=TITLE-ABS-KEY%28%22Reverse+Young+and+Heinz+inequalities+for+matrices%22%29&sl=67&sessionSearchId=81fa61a1532600f63071f79cd12df452&relpos=0
https://www.webofscience.com/wos/woscc/full-record/WOS:000293598100007
https://doi.org/10.2307/2042211
https://doi.org/10.1016/0022-247X(65)90016-8
https://dergipark.org.tr/en/pub/fujma
http://creativecommons.org/licenses/by-nc/4.0/legalcode
http://creativecommons.org/licenses/by-nc/4.0/legalcode

	Introduction
	On Callebaut's Inequality
	Other Related Results
	Applications for Integrals
	Applications for Real Numbers
	Conclusion

